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63. L) oui a9, e soz ame A
® -8a®b? @ -8a®h? ® -8a’b?
@ 8a’b? @8a2b3
4 2712
2D a+ dabolq Wl 7ho] SOl A8 A 2 R,

—2ab?
4a’b* — A = —2ab?*(—2a + 4ab)
A = 4a*b? + 2ab*(—2a + 4ab)
= 4a’b* + 8a*b® — 4a*b?* = 8a*b?




64.

(3x2 — 9xy) + 3x — (8xy — 4y?) =+ (-2y) 2 7tets] 5HHH?

O -5x-y @ 3x-y ® 3x -5y
@ —-3x -5y @5x—5y

3x% = 9xy  8xy - 4y? o3yt Sxy — 4y?
3x —2y 2y
=x—3y+4x—2y

= 5x — by




65.

X

1 1
gx?_zx—lo+3x= 5x2+x—10




66. o= S AL T F2 A2

@D (-2x7)? + (-x3)? x 3x = 6x1°

@2ab + (3a®b)? + @b = 11ab
@ (2x2 +5x-T7)+ (-3x* + 6x +6) = —x? + 11x + 2
@ (6a%b + 4a*) ~2a = 3b + 2a

® -3x(2x—y) + 9x? = 15x% + 3xy

2ab + (3a®b)? + a®b = 2ab + 9ab? + a®b
= 2ab + 9ab = 11ab




67. o= S AN T F2 A2

(x7)2 = (x%)2 = x10

O o

(3a®b)? + a®b = 9ab
@ (2x2+5x-7)+ (-3x* + 6x +6) = —x? + 11x + 2
@ (6a®b + 4a*) +2a =3b + 2a

® -3x(2x—y) + 9x? = 15x% + 3xy

B

@ x1*+x0 =28

® (2x% +5x—7) + (-3x2 + 6x + 6)
=-x?+11x-1

@ (6a%b + 4a*) + 2a = 3ab + 2a

® -3x(2x—y) + 9x® = 3x% + 3xy




68.

+
X2 9] Aol Fo2 FFe L

—x(y+3x) —y(2x + 1) = 2(x2 — xy — 4)
=-xy—3x2-2xy—y—2x2 +2xy+8

=-5x>-xy—-y+8

2t xy O Alge -1, 2* 9 A= -50|B= F2 -6 o[t




69. o= At T &2 A2

@ 2a(3x+2) = 6ax+ 2a

@ (2ab +3b) + g = da + 6b*
G822 - 120) = (~4x) = —2x+ 3

@ 2x(3x—1) = 3x(4 - x) = 9x? — 10x

® 3x(—x+2y-4) = 3x% + 6xy — 12x

B

@ 6ax + 4a

@ 4a + 6

@ 9x2 — 14x

® —3x2 + 6xy — 12x




70. 3(2x+y—2) + (-2x% 4+ 2xy + 4x) +

Aol g Fohw?

@ 5 @7 @9 @ 11

B

3(2x+y—2) + (—-2x% + 2xy + 4x) + g

2
:6x+3y—6+(—2x2+2xy+4x)x)—c

=6x+3y-6-4x+4y+8=2x+7y+2
L247=9




71.

29 -2 B3x—4y 2x-b5y— 5
TERIR BN BT kB C R B W, ALBHC

o gre?

on @ o-; @ o

B )

x+2y—2+3x—4y_2x—5y—3

2 3 4
_ 6(x+2y—2)+4(3x - 4y) — 3(2x - 5y - 3)
a 12
1204 11y-3
B 12

124+11-3 20 5

CA+B+C= —
AR 12 2 3




2a2b + 3ab?  4ab - 5b?

72. o2 4 < 7+ks] 5FH?
ab b
@—2a+8b @ —2a-8b ® 6a-8b
@ 6a—2b ® 2a+8b

2a%b + 3ab? : 4ab — 5b>

P b = 2a + 3b —4a + 5b

= —2a+ 8b




73. 2x(x-1)-3x(2x-3) - (-7Tx* +x-2) &

©3x2—|—6x—|—2 @ 3x2-6x+2

@ -3x2+6x+2 ® 3x2-6x-2

2x(x=1) = 3x(2x = 3) = (=7x> + x - 2)
=2x2 - 2x—6x2+9x+ Tx> —x+2
=3x2+6x+2




8xy — 3x2 Xy
-4 +
2x%y (—4x) -8 2x2y — xy?
@ -16x+ 8y @ 3x+38y ® —5x—12y
@—10x—8y ® 4x-9y
8xy — 3x2 xy
—————— X (-4dxy) -8+ ———
2x2y (=4) 2x2y — xy?
_ 9,2 20 2
:8xy 3x ><(_2)_8X2xy Xy
X xy
= (=2) x (8y—3x) - 8(2x—y)
= —16y + 6x — 16x 4+ 8y = —10x — 8y




75. FHa, bl HotA 4 xS aftb=a+b-ab,axb=ala+b) 2
Aot a=-x,b=x-4y & W, (a#b) + (axb) & x,y °f T
Hoz vepyu?

®x2—y @ x?-4 @2x2_y
@ 2x2 -2y @x2—4y

&8

(—x)#(x — 4y)

=—x+x—4dy+x(x—4y) =x*-dxy-4y ---Q
(=x)* (x=4y) = —x(—x+x—-4y) =4xy ---©
Q@ + ©O3HH x* — 4y°]t.




